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When 6= 30°, the boy's center of mass G is momentarily at rest. Using
force and acceleration methods, determine (a) his velocity and (b) his
acceleration when = 70°, writing these in vector form using normal
and tangential components. Also, find () the tension in each of the two
supporting cords of the swing at this position. The boy has a weight of
50 Ib. Neglect his size and the mass of the seat and cords.
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A nonflexible rope is wrapped around the cylinder at the radius
indicated and is pulled to the left with a force of 750 N. The
cylinder has a mass of 80 kg and a radius of gyration of ks =
0.2m. If the coefficients of static and kinetic friction at A are
=0.1and p = 0.08, respectively, determine (a) the angular
acceleration of the cylinder, (b) the translational acceleration of
its center of mass G, and (c) the friction force at A.
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Masses A and B are connected by a link and have values of 12 kg and 6
kg, respectively. If they are placed on an inclined plane of angle 8 = 45°
and released from rest, determine {a) the force developed in the link
and indicate tension or compression, (b) their acceleration, and (c) the
time required for them to travel 0.5 m down the plane. The coefficients
of kinetic friction between the blocks and the inclined plane are . =
0.08 and s = 0.28. Neglect the mass of the link and hinges.
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